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Rechne in die Einheit beim Ergebnis um und addiere.



1) 375 cm + 35,3 dm + 0,97 m 	= 
  375 cm + 353 cm + 97 cm		= 825 cm
2) 398 cm + 0,84 m + 34,7 dm 	= 
   398 cm + 84 cm + 347 cm 	= 829 cm
3) 32,5 dm + 288 cm + 1,98 m 	= 
   325 cm + 288 cm + 198c m 	= 811 cm
4) 483 cm + 45,7 dm + 1,48 m 	= 
   4830 mm + 4570 mm + 1480 mm = 10880 mm
5) 0,83 m + 35,1 dm + 492 cm 	= 
   0,83 m + 3,51 m + 4,92 m 	= 9,26 m 
6) 23,7 dm + 396 cm + 2,22 m	= 
    2,37 m + 3,96 m + 2,22 m	= 8,55 m
7) 484 cm + 24,6 dm + 1,3 m 	= 
   48,4 dm + 24,6 dm + 13 dm 	= 86 dm
8) 509 cm + 0,5 m + 19,1 dm 	= 
   5090 mm + 500 mm + 1910 mm = 7500 mm
9) 76 cm + 25,3 dm + 0,74 m	= 
     76 cm + 253 cm + 74 cm	= 403 cm
10) 15,5 dm + 142 cm + 1,8 m	= 
   155 cm + 142 cm + 180 cm	= 477 cm
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